
 

 

++++++69 
 

3

1
  ....

5

7
؛       

4

20
 .....

20

7
؛       

2

7
  .....

10

3، 

4 4
.......

11 15
   ،

7 4
.......

3 3
 

12 5 11 7
; ; ;

18 6 3 9
 

  

2 15 30
; ;

3 7 21
 

3 7 7 1 2 14
; ;

8 8 5 10 3 6
A B C= + = + = + 

5 1 11 7
;

2 8 15 15
D E= − = − 

 

12 3 1 170 50 7
;

5 5 5 8 8 8
A B= + − = − − 

5 2 2 11 50 3 7
;

7 7 3 7 20 4 5
C D= +  =  −  

12

1
 

   
4

3
 

  
6

1
   

1- 
59

7,5
=

590

75
 

2- 

597,5
1

1000
 

3- 

 

4
59

7,5

 

5
59

7,5     
 

 : 

10 7 12 1 8 1 1
; ; 4;6 ; 19

9 3 5 7 11 6 19
     

11

3
.....  

25

3
،      

3

2
.....

17

10
  ،       

5

8
 ......  

3

4
  . 

 1

10

1

100  

  

1

1000

   

 

   

 

  متوسط  2  الطالب: 



 

 

ـ  1

2 

.

3 260m. 

 - 2m 

   

7

50

1

5

16

25

1

2   

    

3

4100 Kg

1

1

4

1

6

1

12
 . 

2

3

43000DA

5

  
4

15

 
2

5
 

7

30

 

 




